iy

3
P=si
i

1. ¥¥4
¥4 TE) & PR SCBLRIFTHE RS BESE RS
JBA T (H) SCE R RCER 22 5 X T A R Hi 5
(F) KBFRBR T HAE K & & i

2. EBEAR
1) FHI4 TE)FNHHST Bessla7kaR
372 H# H &f1 74 3H25H

2) JE1THIR
£ ofn 8% 3H3LH

3) wHwyI
YT, KSR 35 & ) e 2K ST IR B B OBt

Tk OHERF S O BEOD 7260, 2R D SR M Ot RR DEFFHTE . A RCAROELY B 2
FEETHIBDTHD,

4) FEHBNA
FhmEE 1A FTAEEE 10 s 15K B 1K KSR RS

AR T KEBIETERST AR 1A R 1

E sz TR R



PR NER =

Tl
P

¥4 | TE)E KU THERF S B3 ¥ =
H H IR SR
THH - THE - FER BT #H = 4 H OB RR
IR = 1 25, 803, 595
IR SCBURIATPRST AR 2V 1 18, 396, 565
IR SCBERIIT R ST AR 2V 1 18,396, 565 | FHimiHEf
1 S0
A
1 X
B A
a 1 @E=k
TE RS AR

(10 )1 (EDX
e (16077 - [B) | /KfZ (41077 - [A]
) L EUEEGE  (10FT - [\])
TE RS AR
a )1 ==X
& (1587« B | AKAL (41787 - [B)
L EAEGE  (1AT - [\])
TE RS AR
(1t )1 (ED=X
HIFARAE (4737 - [1])

KA TR RIS
(1 )1 (E) =0
M (1657 - [BD) . JKAL (418 - [B)
R EGEE (1FT - [|)
KA TR RIS
(1 )1 (E) =0
HFIRAL (4377 + [\1)
RRRFIRST R (K30
1 =
RS
1 =

L [ LAGEE



==
=]

m
2
%

¥4 | TE)E KU THERF S B3 ¥ HEER
HH IR SR
THHE - THE - R BT % & 4 OB AR
A EERR
1 RS
FHaRgk - 101
BB TR AR 2V 1 7, 407, 030
TERIRST AR 2V 1 6,953, 700 | M7 KABKEBLIAT
26 EIRE
TSEAG K B BLRIET
26 EIRE
B RIS ERRIPT
26 At - 19
A RSE AR 2y 1 203,520 | MAATRSF M (BT
4 T - I8l
BRIECRST R GREBLRIFT) 2y 1 249,810 | ERRERST M OKEBLRIET
1 X
[ERES S X 1 4,367,712
[ERES S X 1 4,367,712
TiRE A = 1 683,512 | fifEzsimey
1 =
EER s Rl (S %y = 1 170,000 | FEERGSTERE:
1 =
Mg OKE) 2V 1 3,514,200 | Hgh - HEE
1 =
AT A
1 =
et e By 7 1 1, 344, 953
o prty = 1 1, 344, 953
et sy =K 1 1,344,953 | ENE R

-2 - E sz TR R



FEH N

%lljll
I

LA | EEPNKCCBIRIFTHER S B E BB
H H Bt s
THH - T - fER] B fr ¥ & & % OB ORR
1 =

EEEN B = 1 31, 516, 260
EiEeRlheey 2y 1 16, 603, 740

FEIRE E2V 1 16, 603, 740
T ESEG MR 2y 1 48, 120, 000

-3- E sz TR R



